WaitStep
Wait for Delay

Output a step
Call getdelay
Start delay
Dec STEPS
Inc/Dec CPOS

getdelay

\ 4

Inc STEPN

yes

delay =
frequency/speed

gd1

Calculate Velocity at
this step - Eq3
Calculate delay - Eq2

At Speed
delay
unchanged

Calculate Velocity at
this step - Eq6
_gd2 |Calculate delay - Eq2

jmp to
_dc4

A

Stopped <€

yes

no

\/

copy SPD and set direction
copy STM to STEPS
copy ACL and DCL
set STM =0
Calculate steps for ACL, SLEW
and DCL Eqg4 & Eq5

N

Y no
wait till start

_waitstart

yes
Start v

Set MODE - Accel, Moving

!

‘ DoStep ’

N
L

\ 4

Main Loop

CP - Current Position \
STM - Steps to Move
SPD - steps/sec pos -> CW
ACL - Acceleration
DCL - Deceleration
MODE b0 - 0 - stopped, 1 - moving
b1 -1 - accel
b2 - 1 - decel
b3 -1 - at speed
b4 -1 cw, 0 ccw
b5 - 1 = decel_to_stop
b6 - 1 continue, accel
b7 - 1 continue, decel
SSPIN - 0 - stop, 1 - start

Set SPD, ACL, DCL first then STM
\ STM - cleared to zero after accepted /

Eql - Step number at velocity V = ( V2 - Voz)/h

Eq2 - delay = Frequency / velocity

Eg3 - velocity = sqrt(Vo2 +(2 *a * step)

Eg4 - Calculate Ac_steps and Dc_steps
If STEPS >= AC_steps + DC_steps
then SLEW steps = STEPS - (Ac + Dc)

Else

EQ5 - X = STEPS / (Ac_steps + Dc_steps)
AC_steps *= X
Dc_steps *= X

SLEW steps = STEPS - (Ac + Dc)

Eq6 - Iv = sqrt(VA2 - (2 * Decel * STEPN))

/

Decelerate_to_stop

yes ~
MODE
»<{_ at speed no ~
?
MODE
accel no yes
? \ 4
_as1 | Check for next move
yes
yeo ~N
yes:
N
T 2
Set MODE - Decel
yes STEPN =0
_dc2 Calculate current
velocity Eq2

MODE - at speed

& J
)

A 4

Call <

WaitStep

Call
WaitStep

_dc3

yes

_de4 MODE - stopped

L




